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Introduction
An LS related to resource selection in combination with SL DRX was received from RAN2 [1]. This LS requests the following action from RAN1:
	RAN2 respectfully asks RAN1 to take the above agreements into account and inform RAN2 whether/how RAN1 intends to reflect the restriction in the following RAN2 agreement “When data is available for transmission to one or more RX UE in DRX, TX UE selects the resources taking into account the active time (current or future) of the RX UE(s) determined by the timers maintained at the TX UE.  Details are FFS. FFS whether RAN1 or RAN2 implement this restriction


In addition, the following information capturing the status of the discussion in RAN2 was provided:
	RAN2 has discussed resource selection at the TX UE when communicating with RX UE(s) in DRX. Firstly, based on RAN2 agreements, RAN2 have the following understanding about the TX UE:
· [bookmark: _Hlk80425482]For unicast, the TX UE maintains a set of timers per pair of source Layer-2 ID and destination Layer-2 ID corresponding to the SL DRX timers in the RX UE.  For groupcast/broadcast, the TX UE maintains a set of timers per destination Layer-2 ID corresponding to the SL DRX timers in the RX UE.  The TX UE uses the timers as part of the criterion for determining the allowable transmission time for each RX UE.
· For transmissions to RX UE(s) using SL DRX operation, LCP restrictions ensure that a TX UE transmits data in the active time of the RX UE(s).
Furthermore, in RAN2#115-e, RAN2 made the following agreements:
Agreements:

When data is available for transmission to one or more RX UE in DRX, TX UE selects the resources taking into account the active time (current or future) of the RX UE(s) determined by the timers maintained at the TX UE.  Details are FFS. FFS whether RAN1 or RAN2 implement this restriction. 

For unicast, the TX UE selects the resources for the initial transmission associated with any active time (e.g. on duration timer or inactivity timer, or retransmission timer) at the RX UE. How to handle cases when a transmission may cause these timers to be running at the RX UE is FFS. FFS on groupcast. FFS on whether any spec impact.

For unicast, the TX UE can select the resources for the retransmission associated with any active time (e.g. on duration timer or inactivity timer, or retransmission timer) at the RX UE.  How to handle cases when a transmission may cause these timers to be running at the RX UE is FFS. FFS on groupcast. FFS on whether any spec impact.

For broadcast, the TX UE can select the resources for the initial transmission associated with any active time supported by broadcast (i.e. on duration) at the RX UE. 

For broadcast, the TX UE can select the resources for the retransmission associated with any active time supported by broadcast (i.e. on duration) at the RX UE.




In this contribution, we express our view on resource selection under the considerations of SL DRX. Our views on other sidelink enhancement objectives are provided in companion contributions [2].

Resource selection including SL DRX considerations
SL DRX active time alignment with communication requirements
In our view, both solutions are problematic in principle, if the SL DRX active time is not aligned with the communication requirements. The example in Figure 1 highlights a case where the remaining PDB at the time of the resource (re)-selection trigger is less than the time to the next SL DRX active time of the recipient. 


[bookmark: _Ref61863549]Figure 1: Example in which the higher layer communication pattern not aligned with SL DRX pattern.  
For a dynamic transmission it is not predictable when the packet is generated, the PDB needs to be at least longer than the time between two SL DRX active times. This ensures that even if the traffic is generated at the end of one SL DRX active time it can be transmitted during the next SL DRX active time. It is also required that the resource (re)-selection happens at a time that ensure at least a minimum number of resources where the Rx is in SL DRX active time within the minimum resource selection window.
For periodic transmissions, the time between two consecutive transmissions needs to be an integer multiple of the time between the start of two consecutive SL DRX active times. For the initial reservation, as well as all reselections of the resources the trigger also needs to be at a time that ensure that there are at least a minimum number of resources within the minimum resource selection window.

Analysis of the L1 and L2 solutions
We assume that if L2 receives the packet during a time that the receiver is in SL DRX inactive or there is not sufficient SL DRX active time to select resources from left, the resource (re)-selection trigger can be delayed till the next SL DRX active time of the receiver. The L2 solution removes all resource outside the receiver’s SL DRX active time after the candidate resource set is reported by the physical layer. In this case it is possible that after this exclusion no resources for transmission are left. The L1 based solution can exclude the resources outside the receiver’s SL DRX active time from the beginning and try to find, if there is sufficient amount of resources among remaining ones. This does not have problem of the L2 based solution but still may not guarantee available resources as well as may motivate transmissions on reserved resources.
Based on above analysis, we have the following proposal:


Send reply LS to RAN2 providing RAN1 input that both physical layer and higher layer solution for resource selection may not work if SL-DRX active time is not aligned with traffic generation

Conclusions
In this contribution, we have analyzed LS from RAN2 and came to the observation that both L1 and L2 solutions may not work if SL-DRX active time is not aligned with traffic generation. Based on discussion, we have the following proposal:

Proposal 1: 
· Send reply LS to RAN2 providing RAN1 input that both physical layer and higher layer solution for resource selection may not work if SL-DRX active time is not aligned with traffic generation
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